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Errata

Page 177 – Regarding Question #3.  Answer A should read: 1-C, 2-A, 3-B

Page376 – Regarding Figure 7-2 IPv4 Versus IPv6, There are errors in the IPv6 Address calculations:

1. Binary shown is 2ffe not (3ffe)

2. Binary shown 330 not (230)

3. Binary shown F802 not (f804)

Page 389 – Regarding Table 7-1, 7-2, and 7-4 Decimal and Binary conversions, Tables show that 2^15 

                   equals 32678 all though consistent in this it still would be considered wrong. It should be 

                   2^15= 32768

